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Time : Three Hours] [Max. Marks:
Reg.:80
Pvt.: 100

It 'tftfRcT T^'l Sffaftckl Hit’ toT ^TTQTTTI 

1. ftMr<rifeki WHf ^t WT ^TTW :

(37) 3rfWR to W sftT TTRltH II 3?t 

(H4IH4> 3^ 3Rlf ^rlcTdl ^TR

^RRft II 3 mR-4K4> 3R5ff Rt

31fWR-?itep W 3^ |?

3TW
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3^ R^tzj xpg || cRW 3$ Rll RHFTT 3TRfT I 

—SiM^I ^i^aisl rI Rshi’ii , rtri rt ^RshiH rh 3h<=rui 

R (el’ll 3RRTT II 3^ qi^lcrt R>t RRR 3R|t RTR II 

RRlt RR 3{lc|Wdl3Tf W tfeWdl RRT RR, R«T 3^ 

rtj It =t>?5 tfrt f?RR rvj rrI lit rr rtrt i?i

(7R) RRT t fRFFTT

R|H RR RR7FT qri MrK If 3H RHT Un RTI 

f'h'wl RT ftFR RRtRT RRT RI I dsq>-cis«hl Rft 4>l’^e 

R>t R>t$ RRTt <.... I

RRRT

I 'Jll’i’ll -cll^ai Iff W Rift tfRTRT t 1R RT 

I W 'Ri 'Jl’M f^RJ It Tjft Rt ch? |, A ■e^M'dlM

"^T f^RT R>^? R RRR Rft Jr=hl<, R RRcT Rft RTfR, 

RR R^t RRJlf I RF ^Ft RFft R>t?

(R) It rf H $ RT^ ijft, Rl| $pj Ht RIFT ^t $ Fftl 

RT-RT RR SH') R5RIRT, H?< <ld-RR R7t RtRT, 3RftR

RR FltR 7j0f RT RTR |$R RtR FFTTIT 3^ 

^Rrt RR^ RT^-Rll R5t TR^l

3TRRT

RRRft RTRt 3 RrRRT RFT RTI ^RtR? RlfM 3 R?R 

Rt t^TT It RIRT II R|t Rtfe Rt |s R7 RRRR R?«R 

It RfraT I, RT RRl fRRT RTTT It (Hdc^ It ■RTTRyTTI 

RIR7 Rft flRfRT RRZRlf|?n I RR RltcT RTaR Rl 

^R RR fRTRt Rf^FT ItRR It^RR Rft 3TRRT 

3TRl Rit RlfRRRFT W 7|t Rtl
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(^0 F^T «iln HFt 'jih^, fh srfa

4lM «lld 'Jllirl i?l 3TF7 eft ‘5PT ^rHI KK eft 

w ^i =h<r^iui wi t fa ?pn fata,

®WI 3TMl<, Tl^ft *11^ fncd =h< TfacTT T^l *T ch'l^ mIHI’1 

^fa, H WT w -q^ fafa 3TW

'W\ fas ^1

3J8F5TT

fa^T^T W Tt 3]M' 3^ $%fat Ft T5t t.....

W tM ■gft ?n?T ffaft «ft, ‘3^ 3jfa 

fa<W ^7T ^TT ^3TT «TTI fa^IT TRFcT 

^rfa 3lfa wfa 7R faw far ^FTI 

fa^IWT faF cTT fa Hfa W TFT f, %T7?ft 

f^T TFt tl 4x8=32

(4x9=36)

2. R M Rd fed ■$' 3 fa^Ff xTTT 3xR 41fau, ;

(^T) ‘W^pT’ <FT 3JldlMHk*14» Trffa^T $1

(13) ^T HIW ^T I? 3Tfa TRT -gfa 3

3m «ft $1

(T) ‘3Tfa-3^’ HT33? ?frfa TJT«facTT W ^1

(■*!) *3TT^-3T^’ cfft TTTfMt Tf Trffa-fa^r 3^1

(T) ‘TfaH’ ^faTT 37T fafa-fa^nj ^1

9252/5,00(y777/885 3 [P.T.O.



(^) W 3ft 733T 3t^ 3333 33 33T 3^73 t, 73^

3^'?

(75) 3JT33T e£ 3TPIR 37 3>FTt37U| cFT 3f73T3H 3^1

(3T) an’-qRnqi 4M-4IU TK^f *f 33331 3ft 7T3t§JT 

3itl 4x10=40

(4x12=48)

3. ■pFlff^T 3V7t' aifrr 3rR 3tf^R :

(3T) ‘$W 3TT3R* W ef) ^T £?

(71) ArTf Slf^T -$RT ^>T <=hlCI W t?

(R) ’nkH 3ft Hlcrldl "3173 3ft fasjhldl 33T t?

(3) 3t3H 3ft 3T3T ^ft 37 373^ 1W 3tf^3l

0^) 73F^T<T 3ft TO 3t3HT 37 1W 3tf^3l

(3) ‘73^3’ 3ft 3T3T 37 f^xpft faf^l

(^) ‘33^-3T^’ e^ fcTJt 3°F 3?3 33 3f73T3R 3ftf^3l

(3T) ‘33$-3T*jV TO33f3 Mlfallft* 3ft33 3ft 3T7T3t t

73EE 3^1 1x8=8

(2x8=16)
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